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No closed Cartesian form

(ii) g SECoS(O) y = sec(O) = "(cos(e)
g I ↓

T/6 0 . 866 1 .
155 y = sec(O) = cocelT1/4 0 .707 1 . 414
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(iii) t x = +(t= 1 y = +-2/t+ 1

- 0 . 9 0 . 474 - 29

- 0 .
5 0 . 333 - 5 x= = x(t- 1) = t

O O - 2

0 . 5 - I - 1 => xt- x = t

0 .
9 - 9

- 0. 579

=> +(x= 1) = x

=> t= x

x- 1: y = E=
-

+

= x - 2(x- 1) =-x + 2

x+ x- 2x - 1

where 1

a) &y = dydt =t
2t

Find t such that x= o
, y = 3

x= t-1 = 0 => t= /

· t= - 1 :

y = (1) + (1) + 1 = 1 - 1 + 1 = 3

-t = 1 :

y
= m + 1 + 1 = 3

so t= /

Now
, Myt= 1

= E

Point-Slope: y = 3 = =G-0)



b) d= Itet"
= 4tEet"

lett

Find t such that x =z
, y = e

x= 1 +v =2 = t=

y = ei= e

Now , det
= 1

= He

Point-Slope : y - e = 4e(x-2)

a) & =t -

Idyd= undefine

: Vertical tangent => dy/d @ t= /4 undefined

b)==- :== -t

()= ( - t) = -1 ,
then

I
: dy/d = 1 @ += 1



a) & =t d = 4t

=+ (4t(" dt = ).Stat

=2 + dt =2 =4 = 252

= 453

b) d = -sint + 3sin(st)= 3cost-cost

+(d)= Essint+ 3sin(sti)+ (3cost-cos(st)?

= a[[Csinst-sint)]" + [cosht-cost]2)
Note : [sinA-sin13]2 + [coSA-cosBy" = 2[l-cos(A-B1]

and (x-y)2 = (Y-x(:

= 9 . 2 [1-cos(3t-t)]

= 18 (1-cos2t)

=Scos2t]dt= SMosin'tdt=sin't de
= S16IsintIdt = SGsintdt = 6 . Ecost) 1

:

"

= f( - cost+50) = 6(1 - cost)



c) d = - . (2t+3)"2 . 2 = (2t+3)

de = 1 +t

=+3 +C+) de =34+ 4 It

=S dt = 331t+2/dt = Sttzde

= E+2t)) ? = 2 + 6 =


